

ASYMPTOTIC BEHAVIOR OF LINEAR ADVANCED DIFFERENCE EQUATIONS

MOUATAZ BILLAH MESMOULI¹, ABDELOUAHEB ARDJOUNI^{2,*}, NOURESSADAT
TOUAFEK³

¹Department of Mathematics, University of Ha'il, Kingdom of Saudi Arabia

²Department of Mathematics and Informatics, University of Souk Ahras, Algeria

³LMAM Laboratory, Department of Mathematics, University of Jijel, Algeria

*Corresponding author: abd_ardjouni@yahoo.fr

Received Feb. 5, 2022

ABSTRACT. In this article, we study the asymptotic behavior of a linear advanced difference equation. The idea used here is to construct appropriate mapping. Then we apply the Banach fixed point theorem to obtain sufficient conditions satisfying stability, asymptotic stability and exponential stability of the considered equation.

2010 Mathematics Subject Classification. 39A30, 39A70.

Key words and phrases. fixed points; stability; asymptotic stability; advanced difference equations.

1. INTRODUCTION

In mathematics, advanced differential equations (ADEs) are a type of differential equation in which the derivative of the unknown function at a certain time is given in terms of the values of the function at future times. ADEs are of practical importance, which model many phenomenon in population dynamics, economics problems, or mechanical control engineering (see [11, 13] for details).

Many authors took this practical importance and studied the qualitative properties of these equations. For examples, Chatzarakis and Stavroulakis in [6] studied the oscillations of first order linear difference equation with general advanced argument. Dannan and Elaydi in [7]

are obtained necessary and sufficient conditions for the asymptotic stability of linear difference equations of advanced type. The reader can see more of this research here ([2,3,8–10]).

Despite the great importance of this type of equations, studies on this subject are very scarce. So, in this paper, we consider the linear advanced difference equation

$$(1) \quad \Delta x(n) + \sum_{k=1}^N a_k(n) x(n + h_k(n)) = 0, \quad n \geq n_0,$$

where Δ denotes the forward difference operator $\Delta x(n) = x(n+1) - x(n)$ for any sequence $\{x(n), x(n_0) = x_0, n \in \mathbb{N}\}$, $\{a_k(n), n \in \mathbb{N}, 1 \leq k \leq N\}$ are sequences of nonnegative real numbers such that $\sum_{k=1}^N a_k(n) \neq 1$, and $\{h_k(n), n \in \mathbb{N}, 1 \leq k \leq N\}$ are sequences of nonnegative integers such that $n + h_k(n) \rightarrow \infty$ as $n \rightarrow \infty$.

Equation (1) can be viewed as a discrete analogue of the linear advanced differential equation

$$(2) \quad x'(t) + \sum_{k=1}^N a_k(t) x(t + h_k(t)) = 0, \quad t \geq t_0 \geq 0,$$

where $a_k, h_k : [t_0, +\infty) \rightarrow \mathbb{R}, 1 \leq k \leq N$ are continuous functions, with $h_k(t), 1 \leq k \leq N$ are positives. Dung in [12] studied the asymptotic behaviors of (2).

The fixed point theorem is considered one of the best and most effective methods in the study of stability, compared to the Lyapunov method for example, because the search for the Lyapunov function is a big problem for researchers (see [1,2,4,5,14–17]). Therefore, we will use in this paper the Banach fixed point theorem to study the stability of the equation (1).

2. PRELIMINARIES

To facilitate the study of our equation (1) we take $N = 2$. So, we have the particular equation

$$(3) \quad \Delta x(n) + a(n) x(n + h(n)) + b(n) x(n + r(n)) = 0, \quad n \geq n_0.$$

Using the relation

$$x(m) - x(n) = \sum_{s=n}^{m-1} \Delta x(s),$$

we can rewrite (3) as follows

$$\Delta x(n) = -(a(n) + b(n)) x(n) - a(n) \sum_{s=n}^{n+h(n)-1} \Delta x(s) - b(n) \sum_{s=n}^{n+r(n)-1} \Delta x(s).$$

So,

$$\begin{aligned}\Delta x(n) &= -(a(n) + b(n))x(n) \\ &+ a(n) \sum_{s=n}^{n+h(n)-1} (a(s)x(s+h(s)) + b(s)x(s+r(s))) \\ &+ b(n) \sum_{s=n}^{n+r(n)-1} (a(s)x(s+h(s)) + b(s)x(s+r(s))).\end{aligned}$$

If we let $c(n) = 1 - (a(n) + b(n))$ and $z(s) = a(s)x(s+h(s)) + b(s)x(s+r(s))$, we get

$$(4) \quad x(n+1) = c(n)x(n) + a(n) \sum_{s=n}^{n+h(n)-1} z(s) + b(n) \sum_{s=n}^{n+r(n)-1} z(s).$$

In the following lemma, we transform the equation (3) into a new equation that will facilitate us to apply our techniques.

Lemma 1. *Suppose that $c(n) \neq 0$ for all $n \in \mathbb{N}$. Then x is a solution of the equation (3) if and only if*

$$(5) \quad \begin{aligned}x(n) &= x_0 \prod_{u=n_0}^{n-1} c(u) + \sum_{s=n_0}^{n-1} \prod_{u=s+1}^{n-1} c(u) \left(a(s) \sum_{m=s}^{s+h(s)-1} z_x(m) \right) \\ &+ \sum_{s=n_0}^{n-1} \prod_{u=s+1}^{n-1} c(u) \left(b(s) \sum_{m=s}^{s+r(s)-1} z_x(m) \right),\end{aligned}$$

where $c(n) = 1 - (a(n) + b(n))$ and $z_x(n) = a(n)x(n+h(n)) + b(n)x(n+r(n))$.

Proof. By multiplying both sides of (4) by $\prod_{s=n_0}^{n-1} c^{-1}(s)$ and by summing from n_0 to $n-1$ we obtain

$$\begin{aligned}&\sum_{s=n_0}^{n-1} \Delta \left[\prod_{u=n_0}^{s-1} c^{-1}(u) x(s) \right] \\ &= \sum_{s=n_0}^{n-1} \prod_{u=n_0}^s c^{-1}(u) \left(a(s) \sum_{m=s}^{s+h(s)-1} z_x(m) \right) \\ &+ \sum_{s=n_0}^{n-1} \prod_{u=n_0}^s c^{-1}(u) \left(b(s) \sum_{m=s}^{s+r(s)-1} z_x(m) \right).\end{aligned}$$

As a consequence, we arrive at

$$\begin{aligned} & \prod_{u=n_0}^{n-1} c^{-1}(u) x(n) - \prod_{u=n_0}^{n_0-1} c^{-1}(u) x(n_0) \\ &= \sum_{s=n_0}^{n-1} \prod_{u=n_0}^s c^{-1}(u) \left(a(s) \sum_{m=s}^{s+h(s)-1} z_x(m) \right) \\ &+ \sum_{s=n_0}^{n-1} \prod_{u=n_0}^s c^{-1}(u) \left(b(s) \sum_{m=s}^{s+r(s)-1} z_x(m) \right). \end{aligned}$$

By dividing both sides of the above expression by $\prod_{u=n_0}^{n-1} c^{-1}(u)$ we get (5) \square

3. MAIN RESULTS

Let $(\mathcal{X}, \|\cdot\|)$ be the Banach space of bounded sequences $x : n \in \mathbb{N} \rightarrow \mathbb{R}$ with the maximum norm $\|\cdot\|$.

Definition 1. The zero solution of (3) is Lyapunov stable if the zero solution of (3) is asymptotically stable if for any $\epsilon > 0$ and any integer $n_0 \geq 0$ there exists a $\delta > 0$ such that $|x_0| \leq \delta$ implies $|x(n, n_0, x_0)| \leq \epsilon$ for $n \in \mathbb{N}$.

Theorem 1. Suppose there exist a positive constant M and a constant $\alpha \in (0, 1)$ such that for $n \in \mathbb{N}$

$$(6) \quad \left| \prod_{u=n_0}^{n-1} c(u) \right| \leq M,$$

and

$$\begin{aligned} & \sum_{s=n_0}^{n-1} \left| \prod_{u=s+1}^{n-1} c(u) \right| \left(|a(s)| \sum_{m=s}^{s+h(s)-1} |a(m) + b(m)| \right) \\ &+ \sum_{s=n_0}^{n-1} \left| \prod_{u=s+1}^{n-1} c(u) \right| \left(|b(s)| \sum_{m=s}^{s+r(s)-1} |a(m) + b(m)| \right) \\ (7) \quad & \leq \alpha. \end{aligned}$$

Then the zero solution of (3) is stable.

Proof. Let $\epsilon > 0$ be given. Choose $\delta > 0$ such that for $|x(n_0)| \leq \delta$, we have

$$\delta M + \alpha \epsilon \leq \epsilon.$$

Define

$$\mathcal{S}_\epsilon = \{x \in \mathcal{X} : \|x\| \leq \epsilon\}.$$

Then $(\mathcal{S}_\epsilon, \|\cdot\|)$ is a complete metric space where $\|\cdot\|$ is the maximum norm.

By Lemma 1, we define the operator $\mathcal{H} : \mathcal{S}_\epsilon \rightarrow \mathcal{X}$ by

$$(8) \quad \begin{aligned} (\mathcal{H}x)(n) &= x_0 \prod_{u=n_0}^{n-1} c(u) + \sum_{s=n_0}^{n-1} \prod_{u=s+1}^{n-1} c(u) \left(a(s) \sum_{m=s}^{s+h(s)-1} z_x(m) \right) \\ &+ \sum_{s=n_0}^{n-1} \prod_{u=s+1}^{n-1} c(u) \left(b(s) \sum_{m=s}^{s+r(s)-1} z_x(m) \right), \end{aligned}$$

for $n \in \mathbb{N}$. We first show that \mathcal{H} maps \mathcal{S}_ϵ into \mathcal{S}_ϵ . So by (6) and (7)

$$\begin{aligned} |(\mathcal{H}x)(n)| &\leq M\delta + \sum_{s=n_0}^{n-1} \left| \prod_{u=s+1}^{n-1} c(u) \right| \left(|a(s)| \sum_{m=s}^{s+h(s)-1} |z_x(m)| \right) \\ &+ \sum_{s=n_0}^{n-1} \left| \prod_{u=s+1}^{n-1} c(u) \right| \left(|b(s)| \sum_{m=s}^{s+r(s)-1} |z_x(m)| \right) \\ &\leq M\delta + \alpha\epsilon \leq \epsilon. \end{aligned}$$

Thus \mathcal{H} maps \mathcal{S}_ϵ into itself. We next show that \mathcal{H} is a contraction.

Let $x, y \in \mathcal{S}_\epsilon$, then

$$\begin{aligned} &|(\mathcal{H}x)(n) - (\mathcal{H}y)(n)| \\ &\leq \sum_{s=n_0}^{n-1} \left| \prod_{u=s+1}^{n-1} c(u) \right| \left(|a(s)| \sum_{m=s}^{s+h(s)-1} |z_x(m) - z_y(m)| \right) \\ &+ \sum_{s=n_0}^{n-1} \left| \prod_{u=s+1}^{n-1} c(u) \right| \left(|b(s)| \sum_{m=s}^{s+r(s)-1} |z_x(m) - z_y(m)| \right) \\ &\leq \alpha \|x - y\|. \end{aligned}$$

Hence

$$\|\mathcal{H}x - \mathcal{H}y\| \leq \alpha \|x - y\|,$$

since $\alpha \in (0, 1)$, then \mathcal{H} is a contraction.

Thus, by the contraction mapping principle, \mathcal{H} has a unique fixed point x in \mathcal{S}_ϵ which is a solution of (3) with $x(n_0) = x_0$ and $|x(n)| = |x(n, n_0, x_0)| \leq \epsilon$ for $n \in \mathbb{N}$. This proves that the zero solution of (3) is stable. \square

Definition 2. The zero solution of (3) is asymptotically stable if it is Lyapunov stable and if for any integer $n_0 \geq 0$ there exists a $\delta > 0$ such that $|x_0| \leq \delta$ implies $|x(n, n_0, x_0)| \rightarrow 0$ as $n \rightarrow \infty$.

Theorem 2. Assume that the hypotheses of Theorem 1 hold. Also assume that

$$(9) \quad \prod_{u=n_0}^{n-1} c(u) \rightarrow 0, \text{ as } n \rightarrow \infty,$$

hold. Then the zero solution of (3) is asymptotically stable.

Proof. We have already proved that the zero solution of (3) is stable. For a given $\epsilon > 0$ and $|x_0| \leq \delta$ define,

$$\mathcal{S}_\epsilon^0 = \{x \in \mathcal{S}_\epsilon \text{ such that } x(n) \rightarrow 0, \text{ as } n \rightarrow \infty\}.$$

Define $\mathcal{H} : \mathcal{S}_\epsilon^0 \rightarrow \mathcal{S}_\epsilon$ by (8). We must prove that for $x \in \mathcal{S}_\epsilon^0$, $(\mathcal{H}x)(n) \rightarrow 0$ when $n \rightarrow \infty$. By definition of \mathcal{S}_ϵ^0 , $x(n) \rightarrow 0$, as $n \rightarrow \infty$. Thus, we get

$$(10) \quad \begin{aligned} |(\mathcal{H}x)(t)| &\leq |x_0| \left| \prod_{u=n_0}^{n-1} c(u) \right| + \sum_{s=n_0}^{n-1} \left| \prod_{u=s+1}^{n-1} c(u) \right| \left(|a(s)| \sum_{m=s}^{s+h(s)-1} |z_x(m)| \right) \\ &\quad + \sum_{s=n_0}^{n-1} \left| \prod_{u=s+1}^{n-1} c(u) \right| \left(|b(s)| \sum_{m=s}^{s+r(s)-1} |z_x(m)| \right) \\ &:= I_1 + I_2 + I_3. \end{aligned}$$

By (9)

$$I_1 = |x_0| \left| \prod_{u=n_0}^{n-1} c(u) \right| \rightarrow 0 \text{ when } n \rightarrow \infty.$$

Moreover, let $x \in \mathcal{S}_\epsilon^0$ that for any $\epsilon_1 \in (0, \epsilon)$, there exists $N \geq n_0$ large enough such that $s \geq N$ implies $|x(s)| < \epsilon_1$. Hence, we get

$$I_2 \leq \epsilon_1 \sum_{s=n_0}^{n-1} \left| \prod_{u=s+1}^{n-1} c(u) \right| \left(|a(s)| \sum_{m=s}^{s+h(s)-1} |z_x(m)| \right) \leq \epsilon_1 \alpha < \epsilon_1.$$

Thus, $I_2 \rightarrow 0$ as $n \rightarrow \infty$. Also $I_3 \rightarrow 0$ as $n \rightarrow \infty$ by the same way of I_2 .

Hence, \mathcal{H} maps \mathcal{S}_ϵ^0 into itself. By the contraction mapping principle, \mathcal{H} has a unique fixed point $x \in \mathcal{S}_\epsilon^0$ which solves (3). Therefore, the zero solution of (3) is asymptotically stable. \square

Example 1. Consider the advanced difference equation (3) as the form

$$(11) \quad \Delta x(n) + \frac{1}{3^{n+1}} (x(n+1) + x(n+2)) = 0, \quad n \geq 0.$$

Then with $a(n) = b(n) = \frac{1}{3^{n+1}}$, $h(n) = 1$ and $r(n) = 2$, we have

$$\prod_{u=n_0}^{n-1} c(u) = \prod_{u=0}^{n-1} \left(1 - \frac{2}{3^{u+1}}\right) \rightarrow 0 \text{ when } n \rightarrow \infty.$$

And since $\left|\prod_{u=s+1}^{n-1} \left(1 - \frac{2}{3^{u+1}}\right)\right| < 1$, we have also

$$\begin{aligned} & \sum_{s=0}^{n-1} \left| \prod_{u=s+1}^{n-1} \left(1 - \frac{2}{3^{u+1}}\right) \right| \left(\frac{1}{3^{s+1}} \sum_{m=s}^s \frac{2}{3^{m+1}} \right) \\ & + \sum_{s=0}^{n-1} \left| \prod_{u=s+1}^{n-1} \left(1 - \frac{2}{3^{u+1}}\right) \right| \left(\frac{1}{3^{s+1}} \sum_{m=s}^{s+1} \frac{2}{3^{m+1}} \right) \\ & < \sum_{s=0}^{n-1} \frac{2}{3^{2s+2}} + \sum_{s=0}^{n-1} \frac{8}{3^{2s+3}} \\ & = \left(\frac{2}{9} + \frac{8}{27}\right) \sum_{s=0}^{n-1} \frac{1}{9^s} \\ & < \frac{7}{12}. \end{aligned}$$

So, the conditions (6), (7) and (9) are satisfied for the equation (11). Then by Theorem 1 the zero solution of (11) is stable and by Theorem 2, the zero solution is asymptotically stable.

Definition 3. The zero solution of (3) is exponentially stable, if there exist $\sigma > 0$, $\delta > 0$ and $\lambda \in (0, 1)$ such that

$$(12) \quad |x(n, n_0, x_0)| < \sigma |x_0| \lambda^{n-n_0}, \quad n \geq n_0,$$

whenever $|x_0| < \delta$.

Theorem 3. Assume that there exist $\sigma > 0$ and $\lambda \in (0, 1)$ such that

$$(13) \quad \left| \prod_{u=n_0}^{n-1} c(u) \right| \leq \frac{1}{2} \lambda^{n-n_0}, \quad \forall n \geq n_0,$$

and

$$(14) \quad \sum_{s=n_0}^{n-1} \left(|a(s)| \sum_{m=s}^{s+h(s)-1} (|a(m)| + |b(m)|) + |b(s)| \sum_{m=s}^{s+r(s)-1} (|a(m)| + |b(m)|) \right) \leq \alpha,$$

hold, with $\alpha \in (0, 1)$. Then the zero solution of (3) is exponentially stable.

Proof. Since there exist $\lambda \in (0, 1)$ such that (13) holds. So, let us define the closed subspace \mathcal{E} of \mathcal{X} as

$$\mathcal{E} = \{x \in \mathcal{X} : |x(n)| \leq |x_0| \sigma \lambda^{n-n_0}, \quad \forall n \geq n_0\}.$$

We will show that $\mathcal{H}(\mathcal{E}) \subset \mathcal{E}$. So, we use the same notation I_1 and I_2 in (10). Then by (13), we have

$$I_1 = |x_0| \left| \prod_{u=n_0}^{n-1} c(u) \right| \leq \frac{1}{2} |x_0| \sigma \lambda^{n-n_0}, \quad n \geq n_0,$$

and

$$\begin{aligned} I_2 &= \sum_{s=n_0}^{n-1} \left| \prod_{u=s+1}^{n-1} c(u) \right| \left(|a(s)| \sum_{m=s}^{s+h(s)-1} |z_x(m)| + |b(s)| \sum_{m=s}^{s+r(s)-1} |z_x(m)| \right) \\ &\leq \frac{1}{2} \sigma |x_0| \sum_{s=n_0}^{n-1} \lambda^{n-s-1} \left(|a(s)| \sum_{m=s}^{s+h(s)-1} |a(m) \lambda^{m+h(m)-n_0} + b(m) \lambda^{m+r(m)-n_0}| \right) \\ &\quad + \frac{1}{2} \sigma |x_0| \sum_{s=n_0}^{n-1} \lambda^{n-s-1} \left(|a(s)| \sum_{m=s}^{s+r(s)-1} |a(m) \lambda^{m+h(m)-n_0} + b(m) \lambda^{m+r(m)-n_0}| \right) \\ &= \frac{1}{2} \sigma |x_0| \lambda^{n-n_0} \sum_{s=n_0}^{n-1} \lambda^{s-1} \left(|a(s)| \sum_{m=s}^{s+h(s)-1} (|a(m)| \lambda^{m+h(m)} + |b(m)| \lambda^{m+r(m)}) \right) \\ &\quad + \frac{1}{2} \sigma |x_0| \lambda^{n-n_0} \sum_{s=n_0}^{n-1} \lambda^{s-1} \left(|a(s)| \sum_{m=s}^{s+r(s)-1} (|a(m)| \lambda^{m+h(m)} + |b(m)| \lambda^{m+r(m)}) \right), \end{aligned}$$

since $\lambda \in (0, 1)$, then $\lambda^{m+h(m)} \leq 1$, $\lambda^{m+r(m)} \leq 1$, and $\lambda^{s-1} \leq 1$. So, we have

$$I_2 \leq \frac{1}{2} \sigma |x_0| \lambda^{n-n_0} \alpha < \frac{1}{2} \sigma |x_0| \lambda^{n-n_0}.$$

We infer that

$$|(\mathcal{H}x)(t)| \leq I_1 + I_2 < \sigma |x_0| \lambda^{n-n_0}.$$

Then $\mathcal{H}(\mathcal{E}) \subset \mathcal{E}$.

By the contraction mapping principle, \mathcal{H} has a unique fixed point $x \in \mathcal{E}$ which solves (3). Therefore, the zero solution of (3) is exponentially stable. \square

Now, we state the theorems concerning the stability and asymptotic stability of the equation (1) without proof because the way is similarly as in Theorems 1 and 4. We begin by this lemma.

Lemma 2. Suppose that $c(n) = 1 - \sum_{k=1}^N a_k(n) \neq 0$ for all $n \in \mathbb{N}$. Then x is a solution of the equation (3) if and only if

$$(15) \quad x(n) = x_0 \prod_{u=n_0}^{n-1} c(u) + \sum_{s=n_0}^{n-1} \prod_{u=s+1}^{n-1} c(u) \left(\sum_{k=1}^N \left(a_k(s) \sum_{m=s}^{s+h_k(s)-1} z_x(m) \right) \right),$$

where $z_x(n) = \sum_{k=1}^N a_k(n) x(n + h_k(n))$.

Proof. We use the same way in Lemma 1. □

Theorem 4. Suppose there exist a positive constant M_1 and a constant $\alpha \in (0, 1)$ such that for $n \in \mathbb{N}$

$$(16) \quad \left| \prod_{u=n_0}^{n-1} c(u) \right| \leq M_1,$$

where $c(u) = 1 - \sum_{k=1}^N a_k(u) \neq 0$, and

$$(17) \quad \sum_{s=n_0}^{n-1} \left| \prod_{u=s+1}^{n-1} c(u) \right| \left(\sum_{k=1}^N \left(|a_k(s)| \sum_{m=s}^{s+h_k(s)-1} |a_k(m)| \right) \right) \leq \alpha.$$

Then the zero solution of (1) is stable.

Theorem 5. Assume that the hypotheses of Theorem 4 hold. Also assume that

$$(18) \quad \prod_{u=n_0}^{n-1} c(u) \rightarrow 0, \text{ as } n \rightarrow \infty,$$

hold. Then the zero solution of (1) is asymptotically stable.

Theorem 6. Assume that there exist $\sigma > 0$ and $\lambda \in (0, 1)$ such that

$$(19) \quad \left| \prod_{u=n_0}^{n-1} c(u) \right| \leq \frac{1}{2} \lambda^{n-n_0}, \quad \forall n \geq n_0,$$

where $c(u) = 1 - \sum_{k=1}^N a_k(u) \neq 0$, and

$$(20) \quad \sum_{s=n_0}^{n-1} \left(\sum_{k=1}^N \left(|a_k(s)| \sum_{m=s}^{s+h_k(s)-1} |a_k(m)| \right) \right) \leq \alpha,$$

hold, with $\alpha \in (0, 1)$. Then the zero solution of (3) is exponentially stable.

4. CONCLUSION

The linear advanced difference equation is considered. So, we have studied the stability, asymptotic stability, and exponential stability. The main tool used in the paper is Banach fixed point theorem. An example is given to illustrate the main results.

REFERENCES

- [1] A. Ardjouni, A. Djoudi, Stability in linear neutral difference equations with variable delays, *Math. Bohem.* 138 (2013), 245–258. <https://doi.org/10.21136/MB.2013.143436>.
- [2] M. Belaid, A. Ardjouni, A. Djoudi, Asymptotic behavior of linear advanced dynamic equations on time scales, *Proyecciones (Antofagasta)*. 38 (2019), 97–110. <https://doi.org/10.4067/S0716-09172019000100097>.
- [3] E. Biçer, C. Tunç, On the asymptotic stability behaviors of solutions of non-linear differential equations with multiple variable advanced arguments, *J. Appl. Nonlinear Dyn.* 8 (2019), 239–249.
- [4] T.A. Burton, *Volterra integral and differential equations*, Second edition, Mathematics in Science and Engineering, 202, Elsevier B. V., Amsterdam, 2005.
- [5] T.A. Burton, *Stability by fixed point theory for functional differential equations*, Dover Publications, New York, 2006.
- [6] G. Chatzarakis, I. Stavroulakis, Oscillations of difference equations with general advanced argument, *Cent. Eur. J. Math.* 10 (2012), 807–823. <https://doi.org/10.2478/s11533-011-0137-5>.
- [7] F. M. Dannan, S. N. Elaydi, Asymptotic stability of linear difference equations of advanced type, *J. Comput. Anal. Appl.* 6 (2004), 173–187.
- [8] J. Diblík, M. Kúdelčíková, New explicit integral criteria for the existence of positive solutions to the linear advanced equation $\dot{y}(t) = c(t)y(t + \tau)$, *Appl. Math. Lett.* 38 (2014), 144–148. <https://doi.org/10.1016/j.aml.2014.06.020>
- [9] J. Diblík, K. Janglajew, M. Kúdelčíková, An explicit coefficient criterion for the existence of positive solutions to the linear advanced equation, *Discrete Contin. Dyn. Syst. Ser. B* 19 (2014), 2461–2467. <https://doi.org/10.3934/dcdsb.2014.19.2461>.
- [10] J. Diblík, M. Kúdelčíková, Two classes of asymptotically different positive solutions to advanced differential equations via two fixed-point principles, *Math. Methods Appl. Sci.* 40(5) (2017), 1422–1437. <https://doi.org/10.1002/mma.4064>.
- [11] R.D. Driver, Can the future influence the present, *Phys. Rev. D* 19 (1979), 1098–1107. <https://doi.org/10.1103/PhysRevD.19.1098>.
- [12] N.T. Dung, Asymptotic behavior of linear advanced differential equations, *Acta Math. Sci. Ser. B (Engl. Ed.)* 35 (2015), 610–618. [https://doi.org/10.1016/S0252-9602\(15\)30007-2](https://doi.org/10.1016/S0252-9602(15)30007-2).
- [13] L.E. El'sgol'ts, S.B. Norkin, *Introduction to the theory and application of differential equations with deviating arguments*, Academic Press, New York, USA, 1973.
- [14] M. Gouasmia, A. Ardjouni, A. Djoudi, Study of asymptotic behavior of solutions of neutral mixed type difference equations, *Open J. Math. Anal.* 4 (2020), 11–19. <https://doi.org/10.30538/psrp-oma2020.0049>.
- [15] K.A. Khelil, A. Ardjouni, A. Djoudi, Stability in linear delay Levin-Nohel difference equations, *Trans. Natl. Acad. Sci. Azerb. Ser. Phys.-Tech. Math. Sci., Math.* 39 (2019), 107–118.
- [16] M.B. Mesmouli, A. Ardjouni, A. Djoudi, Stability in nonlinear system of neutral difference equations with functional delay, *Palest. J. Math.* 5 (2016), 12–17.

-
- [17] E. Yankson, E.K. Essel, Stability in delay Volterra difference equations of neutral type, *Proyecciones (Antofagasta)*. 34 (2015), 229–241. <https://doi.org/10.4067/S0716-09172015000300003>.